I

Economics
(214)
Toreren 3ifera WeateR-u
Tutor Marked Assignment

el 3h ¢ 20
Max.Marks: 20

feooft © (@) @t gl ® SW o e € YAE T F I SES wEd fGu T g

Note : All questions are compulsory. The Marks allotted for each question are given
beside the questions.

(i) S YRR & FoH Y3 W YT AH, ShHish, AT S 1 418 3R o T

=i H fafem
Write your name, enrollment numbers, Al name and subject on the first page of the
answer sheet.

1. frafafed waf § 9§ fFE T TR 1 ST AT 40-60 TR F TS 2

Answer any one of the following questions in about 40-60 words.

(a) erefore we foumer fawa @ St srefeme 1 Heieh qRr <1 STEM & 81 SAUdve i
Fe & oM iR o & fomm & &9 # uftafia wifsw)

(T3 1 3d)

Economics is a vast subject and it is not easy to give a precise definition of economics.
Define economics as science of welfare and science of wealth.

(See Lesson 1)

(b) “‘wiE off Tmfar stfersran ey SAfSiq T =Tedl ® 31N SR 1 N 1 ¥ HE <edl

21" frofar & fou o, TorE iR o H SEURI H W HifU (IS § @)

"Any producer wants to earn maximum profit and minimize cost of production. Explain

the concept of cost, revenue and profit for the producer.” (See Lesson 8)

2. frafafed gedi & @ fFeh Tt T99 #1 IW AT 40-60 T H i 2

Answer any one of the following questions in about 40 to 60 words.

Session 2021-22 (Economics-214) 25



3.

4.

26

(a)

(b)

AV T WA WY WY Tl & e § wIe i gne U1 € safer gl € it
THEA gAY €| Teh SR hi R W qANdl T W i HHE] i oAl HIT)
(I3 5 3W)

Scarcity and choice go hand in hand. In fact issue of choice arises because resources are
scarce. Explain the issue of scarcity and choice with the help of an example.
(See Lesson 5)

‘o SR HaTd <HT € A gestell i Ggfie % o gue w9 @ Aoyl # iR 3 oequ
AR Hard ot St € fafay € fait eat Too) 39 SR & YR | e 3 Henst
&t fagmarsti =t =men s (W8 3 <H)

"Goods and services both are equally important for satisfaction of human wants and these

goods and services are as diverse as our wants." In the light of this statement explain the
features of goods and services. (See Lesson 3)

frafafad uv=i § 9 fodl T 999 1 ST AT 40-60 Y8 § <ifSu) 2

Answer any one of the following questions in about 40 to 60 words.

(a)

(b)

S T B et S § T wEi sesd orlifia ® if =9 ool stuan sTrevaeRdrst
1 T HH & fou AR gEeE it €1’ KT T e % ool | STevEshaiet i
Hifrq & 1 ORAE <F T RIS (I3 2 3H)

As we all know our wants are unlimited but our resources to satisfy these wants are
limited. In the light of the given statement explain the Indian philosophy of limiting wants.
(See Lesson 2)

% Ieqre b1 3Tl o frfa & afeds & w9 o qRefa ferean sman ® @ e S wer
1 IO S HUI? SR 1 I TG Tehehl 1 TH FF TRy (s 7 3d)

If production is defined as transformation of inputs into outputs then how would you
describe production function. Also name two major technologies of production.
(See Lesson 7)

frafafad gt § 9 fodl T 999 1 ST AT 100-150 s | fs) 4

Answer any one of the following questions in about 100 to 150 words.

(a)

Fol I, SHT IR SR a3 Th TR ¥ FaIfd &1 Tk FeATsh S0 i
TR § 3T T i ARl Hiful (a8 7 @)

Total Production, Average Production and Marginal Production are related to each other.

Explain their relationship with the help of a numerical example. (See Lesson 7)
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(b)

srefeaeensti o faf= sl W i fran ST ghar 21 U9 o § 9w o
B YT YR 1 yedTaen & WGhTH SN i 3d g e & uR W srefereensii
% YhR THAEU (U3 4 3W)

Economies can be classified on different basis. One of such bases is 'Development'. Explain
the types of economies on the basis of development citing relevant examples of each type
of economy. (See Lesson 4)

fr=fafed oo § 9 fodl T 999 1 S AU 100-150 v H ST 4

Answer any one of the following questions in about 100 to 150 words.

(a) ‘‘ereforawen wh Ard fAfda died ®, S GHS #1 SIavEswdl & STHR SHET, TR A

ufafda foan S 817 58 wer &y o S, qureErdt ok fafsd steferawen
AT Y| AR HT A fRE YRR A 2?2 (U3 4 TW)

"Economy is a man-made organization] which is created, destroyedor changed as per the

requirement of the society". In the light of this statement explain the capitalist, socialist

and mixed economy. Which type of economy India is? (See Lesson 4)

(b) TS M 3N G wUE & o= e St (s 7 2@)
Distinguish between autonomous, corporations and government companies.

(See Lesson 7)

o & T ufEeet ¥ ¥ wiE T REsE dOR St 6

Prepare any one project out of the given below:

(a) BH WA € foh o9, SIS i hel N W S 1 SAURIY ® SR 3@ oA

(b)

HAfveafer o9 = el TS - el N 1 STAN Hieh 1 Sl ¢ STh! Teh FHfar &
HqIfeeh TN SR o 373 HEH & 3MhSl shi $ohadl il BN IR A weieh Aifees
ST & 3TTEY SHehT el ToTedl 3R HiAq Tore Ig A gU for Sfa Tord € 25 € 91
FHET BN TH A% SMUH! IHh WG TN hY TN HIA SHAT| ST AT IROTeTg
T 9 fearsl (U3 8 W)

We know that profitis the surplus of revenue over the total cost of production and is

calculated using the following expression Profit = Total Revenue — Total Cost. You have
to collect the monthly cost for eight months production figure of a manufacturer and then
his total revenue and marginal revenue corresponding to each monthly figure assuming
that average revenue is Rs. 25. Thereafter you will have to calculate his monthly profit.
Show your calculation in a tabular manner. (See Lesson 8)

3] T FHiar g Frefated daifeie! 9eH &1 T 2

You have been provided with the following table by a producer.
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i AR silga 3R

57 BT THET T 3R
Units of labour Total Product | Marginal Product Average Product
0 0
1 5
2 12
3 21
4 28
5 30
6 30
7 28

i I SWRiea dfersht S QU FA § IR TR 1 STEwashdl © IR T8 7 X o
SAREA % WX & TTHATH HE & A€ fhal heal Tl HM R a1 STl

(918 7 29)

The producer needs your help in completing the above table and decide how many units
of labour be employed to optimize the level of output. (See Lesson 7)
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